N = 0l & AF & F Al A

SM: 2HEASRHE
BE: N&IbsE MEISA SH(SYLS/BFESAL)

@2l ZHEZAIEENH =4 (ctel &
SA B HRA(SH) - MRAY - B 0] & 08 o1 o HIREY
SMEAZSdH 2,390,663 2,208,663 182,000

= 199,000 199,000 0

= 2,191,663 2,009,663 182,000

KNEItss MEHZAl SH(BHES/E#EES 2,116,553 1,936,553 180,000
= 199,000 199,000 0

L= 1,917,553 1,737,553 180,000

=MEAzEdyH =4 1,616,200 1,466,200 150,000
= 199,000 199,000 0

= 1,417,200 1,267,200 150,000

IUTC w=sJ|et =5 250,000 100,000 150,000
405 KHoHESHI 250,000 100,000 150,000

01 T =S H SHI 250,000 100,000 150,000
OMe2 HIIHZ 7 250,000 100,000 150,000

FAE g ze| 33,423 3,423 30,000
FA2g2el 33,423 3,423 30,000
101 14| 14,000 0 14,000

10 JIZtMZ22Hs28+ 14,000 0 14,000
OME2 HFA - RX2C 14,000 0 14,000

201 et 19,423 3,423 16,000

02 223l 19,423 3,423 16,000
ozEXH wAlZel 5,423 3,423 2,000
03232= & AMA 14,000 0 14,000
HY2AGU (RS AZSSHE)(OIEHIIE 274,110 272,110 2,000
Jl23| 11,750 9,750 2,000
FA2Y Jl=Z | 11,750 9,750 2,000
201 Let2d| 7,670 5,670 2,000

01 AR 22| 6,470 4,470 2,000
ORNE2ZE AtR22lH] 6,470 4,470 2,000




